WSE TS (R (551 P 8]
_ FET-F(%) SETAEBIEU(AN) SEBIE(N)
BEDEMIFEY E] 135 5 37
= 24.0 6 25
e 17.7 11 62
BEOEMHEY ] 10.5 4 38
= 13.2 5 38
21k 11.8 9 76
EEOESHEY ] 5.0 1 20
= 28.6 2 7
21K 11.1 3 27
SEXBLUMOE I EY E:] 42.9 6 14
T 33.3 2 6
21k 40.0 8 20
SMLHEE 5 0.0 0 4
= 66.7 2 3
21K 28.6 2 7
fifi 2% E: 17.0 8 47
= 20.5 8 39
EXCY 18.6 16 86
TS E:] 0.0 0 3
= 0.0 0 2
£ 0.0 0 5
[ EES 5 43 3 69
S 75 5 67
21K 5.9 8 136
A HH i E] 12.0 3 25
= 19.0 4 21
£ 15.2 7 46
HERTR ] 34 1 29
= 0.0 0 33
21K 1.6 1 62
KEREHEREHT ] 5.9 1 17
= 0.0 0 42
£k 1.7 1 59
BiEE ] 0.0 0 5
= 25.0 1 4
£k 11.1 1 9
LS PN ] 6.7 1 15
= 0.0 0 24
£k 2.6 1 39
SMRER ] 0.0 0 18
= 0.0 0 19
£k 0.0 0 37
R E E:] 2.1 1 48
= 0.0 0 53
2k 1.0 1 101
AT 3L AR AR KAE 5 9.1 1 11
= N/A 0 0
21 9.1 1 11
BHHNE L 0.0 0 42
= 0.0 0 54
2k 0.0 0 96
=357 E:] 0.0 0 1
= 0.0 0 3
21 0.0 0 4
FEME ] N/A 0 0
S 0.0 0 16
21k 0.0 0 16




BMETEERD) [E1 M3 HR) 2023/06/26

_ FET-F(%) SETAEBIEU(AN) fiEfFIER(N)
RIDAE 5 0.0 0 19
= 0.0 0 6
e 0.0 0 25
BRHERURERER E:] 0.0 0 29
S 0.0 0 13
21 0.0 0 42
ALEOEETEY ] N/A 0 0
= 43 1 23
21K 43 1 23
FRBEETAE E:] 0.0 0 11
T 0.0 0 23
21k 0.0 0 34
BEAIZT 5 0.0 0 44
= 0.0 0 3
24K 0.0 0 47




